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Refer to the following informaion.

Potato prices soar

Many smallacale poato farmers have experenced poor growing conditons in
Octaber s yoar, which has led 1o the price of potaioes increasing fom $5.00 3
Kiogram t0 5900 a kiogram.

T ncraase in th prce o potatoe i aflectng the marke for hol chips, the most
popuar form of food produces from potatoes.

“The incroased pic isalso expecied o affect markets forcomplementary goods such
25 tomalo sauce, and substut goods such 8 rce.

e price of polatoes is ot expecied o fall fom he curent price of $9.00.a kiogram
untl hext season'scrop enters the market n February nextyear. Aconsumer advocate
argued hatf i govermment sat a maximum price for potatoes of 57,00 logram, o
consumers would be bete off. Ths clam has been rsjected by government offcias.

(2) Show on each diagram how the poor growing condilions for potaloes are likely 10 afect the.
market for the following goods.

Indicate the effect on price and quantiy raded.

Wk fo potaoes Mkt fo hot chips
5 s,
" s " s
o o
— 3 = 3
Markot fortomto sauce arkt o ice
P s P s
N0,
NG o
-— a e a

(& marks)
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(5) () Name the likely market structure for the potato-growing industry
Perfect competition (1 mar)

(@) Justty your response to part (b))
Many sellers, homogenous product, perfect information, price takers

(1 mar)

(©) Explainth fkely changs n the pice eastcty of suppl of potatoes before and after February
nextyear when the new crop becomes avaiable.
Price elasticity of supply increases with the time period. Currently suppliers are:

limited in the increase in quantity they can supply by their current planlmg%étm&x ,

So, before February - inelastic; after February more elastic as more can be planted.

(@) () State the likely price elasicty of demand fo polatoes.

Inelastic demand. (1 mark)

(i) Justty your response to part (). Somewhat of a necessity, have relatively few

substitutes, small proportion of income. Therefore an increase in price would lead

t02 % fallin quantity demanded less than the % increase in price. (1 mark)

(i) Wit reference to your response to part (d)). explain thelikely effect on total revenue of
the Increase in the price of potatoes from $5.00 a llogram o $9.00 a kiogram.

demand means that price and tota revenue move in the same.

fisets the drop in revenue

(2marks)
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Evaluate the daim by the consumer advocae tha fthe goverment set a maximu price for
potatoes of $7.00 a klogram, al consumers would be better off.

Include a diagram to support your response.

o

o q q 4
The claim is incorrect. A maximum price of $7 when the equili

be $9 would cr

e ashortage of potatoes. Consumers who can buy potatoes are

better off but those who can not get the potatoes they want are worse off,

(3 marks)
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Refer to the following information.

Chocolate Crisis Expected

If chocolate is your favourite treat, enjoy every bite while you can. The worlds four major chocolate
producers predict an annual shortage of 1 millon tonnes of cocoa beans for at least the next 5 years.
Cocoa beans are the main ingredient used to make chocolate.

Problems with disease and drought over the last decade have forced many cocoa bean farmers to grow
other crops, such as com, that are more resistant to disease and drought.At the same time, the market
for chocolate in Asia — which has only just emerged — is growing at an ever increasing rate.

(a) Using information from the article above, show on each diagram the effect of changes in
the market conditions for chocolate.

() Supply of chocolate:

P
s
[
Market for chocolate
(1 mark)
(i) Demand for chocolate:
3
o
&

Market for chocolate

(1 mark)
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(b) "It s difficult to predict the overall effect of changes in market conditions on the.
equilbrium price and quantity traded of chocolate.”

Evaluate this statement and complete the demand and supply diagram to support your
answer.

a
Market for chocolate

(3 marks)

() Refer to the following additional information about the chocolate crisis.

Over the past year, goverments have introduced reforms to keep the many small-scale
cocoa bean farmers in the industry — including a subsidy for new cocoa bean plantings.
While these reforms have led to more cocoa bean plantations, it wil be some time before
the cocoa beans are ready for use,

() Define the term ‘su

(1 mark)

(i) Show on the diagram below the impact of a subsidy on the market for cocoa beans.
Indicate the effect on the equilibrium price and quantity traded

H s

o

a
Market for cocoa beans

(1 mark)
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(i) Explain your answer to part (c)(i).

(1 mark)
() () State the likely price elasticity of the supply of cocoa beans.
(1 mark)
(i) Justify your answer to part (d)().
(1 mark)

() ‘The market structures for cocoa bean farmers and chocolate producers are different and
‘each market structure has a different impact on consumers and producers.”

Evaluate this statement.
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Refer to the following information.

Chocolate Crisis Expected

1f chocolate s your favouite treat, enjoy every bite while you can. The world's four major chocolate
producers predict an annual shortage of 1 million tonnes of cocoa beans for at least the next 5 years.
Cocoa beans are the main ingredient used to make chocolate.

Problems with disease and drought over the last decade have forced many cocoa bean farmers to grow
other crops, such as com, that are more resistant to disease and drought At the same time, the market
for chocolate in Asia — which has only just emerged — is growing at an ever increasing rate

(a) Using information from the article above, show on each diagram the effect of changes in
the market condtions for chocolate.

P
<
A
3

Market for chocolate

X

Market for chocolate

(i) Supply of chocolate: s
s

(1 mark)

(i) Demand for chocolate:

(1 mark)
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(b) "It is difficult to predict the overall effect of changes in market conditions on the
equiliorium price and quantity traded of chocolate.”

Evaluate this statement and complete the demand and supply diagram to support your
answer.

Market for chocolate.

Price willrise but the change in quantity can not be determined - it depends on the relative

‘demand and supply

(3 marks)

(©) Refer to the following addtional information about the chocolate crisis.

Over the past year, governments have introduced reforms to keep the many smalk-scale
ocoa bean farmers in the industry — including a subsidy for new cocoa bean plantings.
While these reforms have led to more cocoa bean plantations, it will be some time before.
the cocoa beans are ready for use.

(i) Define the term ‘subsidy’
Asubsidy is a payment by the government to the producer often per unit of production, but

nthis case for planting new cocoa bean plants. It offsets costs of production.

(1 mark)

(i) Show on the diagram below the impact of a subsidy on the market for cocoa beans.
Indicate the effect on the equilibrium price and quantity traded

>, S,
l iy
A

Market for cocoa beans.
(1 mark)
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(i) Explain your answer to part (c)(i)

The subsidy lowers the cost for the producer getting the goods to the market, makes cocoa bean

production more profitable, 5o the producers are willng to supply more at each price. (1 mark)

(@ () State the likely price elasticity of the supply of cocoa beans.

Inelastic B (1 marky

(i) Justify your answer to part (d)().
Ittakes some time for the cocoa beans to be ready for the market so producers can't respond

quickly to the change in price (1 mark)

(€) ‘The market structures for cocoa bean farmers and chocolate producers are different and
each market structure has a different impact on consumers and producers.

Evaluate this statement.

rmers: Close to perfect competition

Chocolate producers: Oligopol

Perfect Competition _ oligopoly

Price: ow . higher - competition on product not price
Choice: identical products ___ variety - non-price competition

Quality: identical quality good quality - firms compete on quality

New Technolog) noincentive orfunds _High - strong incentive + R&D funds _
Effciency: efficient resource use __Economies of scale - inefficiencies eg advertising
Profitabiity: norma profit super-normal proft - bar

Evaluation: Statement i correct.
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Refer o the following information,

‘The avocado market

The demand for Hass avocados’ has grown cramaticaly over the last 10 years and
‘consumers no onger consider them a uxury. The growing number o Mexican restaurans.
— which use a large number of avocados in meals — has also added 1o demand. These.
changes have ld to many more producers supplying Hass avocados of 2 similar qualty.

‘Avocados, unilke ofher fut such as strawberries, do not ripen unt they are picked. This
gives individual avocado growers some flexiblty about when they pick and sell thir
avocados. In December 2015 some growers decded to pick more avocados than usual
They pointed out that consumers would pay 3 lowier price for avocados over Chistmas and
‘rowers woukd not have to throw out fut n eary January when there was ess demand

In January 2016 the market price o avocados unexpectedly ncreased from 5200 fo $7.00
‘each. Although some journalsts held growers responsiie for the farge prce increase,
growers biamed the unexpecied bad weather in cary January which damaged exsting
crops.

Avocados are sold by hundreds of it and vegetable etailers. In January 2016, one ful.
and vegetable retaier decided o sell avocados for §5,00 each, withthe aim of helping
consumers by forcing down the market price of avocados.

55 avocados ae he mostcommon varity o avocados grawn i Ausala

(@) () Name the liely market structure for the avocado-growing industry.

(1 mark)

(i) Justify your answer to part (a)().

- (1 mark)
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(b) Describe the liely change in the price elasticity of demand for avocados over the st 10 years

@ marks)

(€) Show on the diagram below the likely effect of picking more avocados in December 2015 on
the market for avocados.

Indicate the effect on price and quaniiy traded
Market for avocados in December 2015

s s

S

[ (1 mark)

(@) Outine the ikely difference between the price elasticy of supply of avocados and that of
another fuit such as strawberties.

(@ marks)

(€) Show on the diagram below how the increase In the price of avocados in January 2016 is
Vikely to affect the marict for meals made with avocados in Mexican restaurants

Indicate the effect on price and quaniiy traded
Markot for Mexican restaurant meals
made with avocados i January 2016

5
s

(1 mark)
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(1) () Name one type of market faiure that could be associated with the avocado market.

(1 mark)

(i) Explain why your answer to part (1)) is an example of market failure.

(2 marks)

(9) Assess the claim that one fruit and vegetable retaier seling avocados for §$5.00 would force

down the market price of avocados.

(@ marks)
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Refer to the following information.

The avocado market

The demand for Hass avocados' has grown dramatically over the last 10 years and
consumers no longer consider them a luxury. The growing number of Mexican restaurants
— which use a large number of avocados in meals — has also added to demand. These
changes have led to many more producers supplying Hass avocados of a similar quality.

Avocados, unlike other fruit such as strawberries, do not ripen until they are picked. This
gives individual avocado growers some flexibility about when they pick and sell their
avocados. In December 2015 some growers decided to pick more avocados than usual.
They pointed out that consumers would pay a lower price for avocados over Christmas and
growers would not have to throw out fruit in early January when there was less demand

In January 2016 the market price of avocados unexpectedly increased from $2.00 to $7.00
each. Although some journalists held growers responsible for the large price increase,
growers blamed the unexpected bad weather in early January which damaged existing
crops.

Avocados are sold by hundreds of fruit and vegetable retailers. In January 2016, one fruit
and vegetable retailer decided to sell avocados for $5.00 each, with the aim of helping
consumers by forcing down the market price of avocados.

" Hass avocados are the most common variety of avocados grown in Australia.

(a) (i) Name the likely market structure for the avocado-growing industry.

Perfect Competition (1 mark)

(ii) Justify your answer to part (a)(i).

Many sellers and buyers; easy entry/exit; homogenous product.

(1 mark)
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(b) Describe the fikely change in the price elasticity of demand for avocados over the last 10 years.

Become more inelastic - no longer considered a luxury.

. (2 marks)

(c) Show on the diagram below the likely effect of picking more avocados in December 2015 on
the market for avocados.

Indicate the effect on price and quantity traded.

Market for avocados in December 2015

(1 mark)

(d) Outiine the likely difference between the price elasticity of supply of avocados and that of
another fruit such as strawberries.

The price elasticity of supply s likely to be more elastic than other fruit as producers are

more able to carry stock as the avocado is less perishable when stored appropriately.

_ (2 marks)

(e) Show on the diagram below how the increase in the price of avocados in January 2016 is
likely to affect the market for meals made with avocados in Mexican restaurants.

Indicate the effect on price and quantity traded.

Market for Mexican restaurant meals
made with avocados in January 2016

(1 mark)
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(f) () Name one type of market failure that could be associated with the avocado market
Asymmetrical information o extenalities or lack of competition (1 merk)

(i) Explain why your answer to part (f)()is an example of market failure.

Asymmetrical information - producers have more market information than consumers -

perfect information required for perfect competition.

Externalities if the production of avocados caused costs to third parties, e.g. pollution.

Lack of competition ifa group of producers can agree to nfluence market congitions.

(g) Assess the claim that one fruit and vegetable retailer seling avocados for $5.00 would force
down the market price of avocados.

Unlikely - producers are price takers in a market made up of many sellers.

Oneindividual seller could not influence the market price.

15 is below the market price, there will be a shortage at $5. Setting a price wil not

shift demand or supply curves. @marks)
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Refer to the following article.

‘The Rising Price of Petrol Threatens to Reduce Global Economic Growth

“The fastaising price of petrol s threatening 1o reduce global economic growth, and ncreased
tensions in some oi-producing countries have raised the threat of & major csruption in gobal ofl
supplies. Producers of goods and services face higher production and disiribuion costs. A higher
petrl price forces consumers t change thir expendilure on othe ems, such s restaurant meal
aiessing, and family hoidays. The pice elasticty of oth supply and demand for perol s

o be relatiely ineastc.

(@) () Define the term ‘price elasicity of supply.

(1 mark)

(i) State one reason why the price elasticity of supply for petrol is likely to be relativly
inelastic

- _ _(ma)

(b) Using the information in the article above, show on each diagram the effect of the
change in market conditions for petrol on the price and quantiy traded in the following
markes:

Market for potrol Market for family holidays.

s 3 s

, N,

@ &

(@ marks)

(©) Which one of the following best explains why the price elasticity of demand for petrol is
likely 1o be inelastic? Tick the approprate box.

Close substiutes are not available

A small proportion of income s spent on petrol

The supply of petrol is price inelastic

Petrol production is close to capacity (1 mark)
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Refer to the following article.

The

ising Price of Petrol Threatens to Reduce Global Economic Growth

The fastising price of petrl i threatening to reduce global economic growth, and increased
tensions i some oi-producing countris have raised the threat of a major disruption in global ol
supplees. Producers of goods and services face higher producton and distrbution costs. A igher
pelrol prce forces consumers fo change their expenditure on other tems, such as restaurant meals,
hairdressing, and family holidays. The price elastiity of both supply and demand for pelrol s likely
1o be relatvely nstastic.

(@) () Define the term ‘price elasticty of supply’
“The responsiveness of quantity supplied to a change in price

(1 mark)

(i) State one reason why the price elasticity of supply for petrol s likely o be relatively
inelastic.

limited excess capacity in production, takes time to bring additional oil on stream,

collusion between producers? (4 mark)

(b) Using the information in the article above, show on each diagram the effect of the
change in market conditions for petrol on the price and quanity traded in the following
markets:

Markot for parol Market for family holidays.

Pt s
|

(2 marks)

(€) Which one of the following best explains why the price elastcity of demand for petrol is
likely to be inelastic? Tick the appropriate box.

Close subsiiutes are not avaiable R

A small proportion of income is spent on petrol

‘The supply of petrol is price inelastic

Petrol production is close to capacity (1 mark)
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Refer to the folowing information.

Balancing price and demand

Travellers o Asia are very famillar with hawker' food markets that provide a variety of cheap and good
food. Increasingly, hawkers have found it more dificult to make a iving

‘Consider the example of e market with a large number of stallnolders, many of whom include chicken
fice on their menu. Athough costs of ingredients have more than doutled over the past 10 years, the
average price of aplte of chickenrice n 2014 s ony $2.50 compared with $2.00in 2004. Aspokesperson
for the havkers said, W have to absorb increased costs. We wan! o increase prices but we do not
Know how to do this without negative consequences'

However, one hawker, Ms Chan, has managed o defy the trend of aling profs. The $1.50 price for
her chicken rce has not changed i the past 10 years and her profts have actuall increased. Ms Chan
argues that her success is due o bulk buying the ingredients, specialsing n one product, and pricing
her food significanty lower than the average price. She commented, ‘A hawker seling $1.50 chicken
fice could be more proftable than one seling the ish for double the price. You just need fo understand
the marke.

“hawker — st food rader

@

(i) Identity the most likely market structure for the ‘hawker' food markets.

- (1 mark)

(i) Justiy your answer to part (a)().

- (1 mark)

(i) State one possible advantage for consumers of the market structure you identified in
part (a)().

- B (1 mark)

() State one possible advantage for producers of the market siructure you identied in
part (al)

- (1 mark)
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Refer to the following information.

Balancing price and demand

Travellers to Asia are very familiar with ‘hawiker" food markets that provide a varily of cheap and good
food. Increasingly, havkers have found it more diffcut o make a ving.

‘Consider the example of one market with a large number of stalolders, many of whom include chicken
rice on their menu. Although cosls of ingredients have more than doubled over the past 10 years, the
average prce of a plate of hicken rce in 2014 s only $2.50 compared with $2.00in 2004, Aspokesperson
for the havikers said, 'We have to absorb increased costs. We want to increase prices but we do not
Know how to do this without negative consequences'

However, one hawker, Ms Chan, has managed to defy the trend of fallng profts. The S1.50 price for
Ter chicken rice has not changed in the past 10 years and her profits have actualy ncreased. Ms Chan
argues that her success is due to bulk buying the ingredients, specialsing in one product, and prcing
her food significanty lower than the average price. She commented, ‘A hawker seling $1.50 chicken
fice could be more profiable than one selling the dish for double the price. You just need to understand
the market

hawker—

reet ood tradr

() (i) Identy the most liely market structure for the ‘hawker food markets.
Monopolistic competition (1 mark)
(i) Justify your answer to part (a)().

Many sellrs - diferentiated priduct - low barriers to entry

(1 mark)
(i) State one possible advantage for consumers of the market structure you identified in
part (a)(i).
Product choice

Product (1 mark)

(iv) State one possible advantage for producers of the market structure you identiied in
part ().

Possibilties of more than normal profit in the short run (1 mark)
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Refer to the following information.

(@

®)

(©

)

(©

The Features of Market Structures

Allmarket structures can be classfied according to thei specifc features. Regardless
of the structure o the markel, there will aways be some type of market failure, such
as negalive externalies.

Define the term ‘barrer o entry’

(1 mark)

How do barriers to entry vary according to the market structure?

(1 mark)

How does a firm's tendency to develop technological innovation vary according to the
market structure?

(1 mark)

Define the term ‘price elasticiy of demand

(1 mark)

Explain how the price elasticity of demand differs when a firm is operating under a
perfectly competiive, as opposed to a monopoly, market structure.

(2 marks)
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®

() Give an example of a negative extemaliy.

(1 mark)

(i) In what way is the example you gave in part (1) a type of market failure?

(1 mark)

(ii) State one measure to redress the example of a negative extemalty you gave in
part (7).

(1 mark)

() Outiine how this measure would redress this negative externality.

(1 mark)
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Refer to the following information.

The Features of Market Structures

Allmarket structures can be classied according to their speciicfeaures. Regardiess
of e structure of the market, there wil aiays be some type of market faire, such
25 negative extemaites

(@) Define the temn “barier to entry.

Those things that make it difficult for a new company to become established in the (1 mark)
market against companies that have been in the market for some time e.g startup
costs,patents, trademarks, copyrighted technology, and a dominant brand.

(b) How do barriers to entry vary according o the market structure?

Perfect Competition has no bar

15 to entry. They become more significant as competi

declines, so are fairly low in monopolistic competition and high in oligopolies and_(1 mark)

monopolies

(e) How does a firm's tendency to develop technological innovation vary according o the
marke structure?

Mast evident in oligopolies, which compete largely on product and often have funds to finance research

and development. Monopol

i competition hs the ncentive but few funds. Perfect (1 man

competiton provides s incentive. Monopolies - only forstategic purposes(e.g) potential competitor.
(d) Define the term ‘price elasticity of demand

How responsive the quantity demanded i to a change n prce.

(1 mark)

(¢) Explain how the price elasticlty of demand differs when a firm is operating under a
perfectly competiive, as opposed to a monopoly, market structure.

Under perfectly competitve firms the demand curve is completely lastc t the market price 2 the firm

isa pricetaker.For a monopoly,the demand curve s the market demand curve, which will be downviard

sloping and more inelasic. The monapolist can set ether the price or the quantit in the market. (The

rice il s on th clasic art o the drmand curve)
i o (2 marks)
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(0 () Give an example of a negative extemaity

Avwide variety of answers - .. Global warming caused by carbon emissions. (1 mark)

(i) In what way is the example you gave in part (1) type of market falure?
The market only refectsprivate costs and benefits and does not always reflec sockl costs and

benefits,partculary when externalties exst. Market overproduces.

- (1 mark)

State one measure to redress the example of a negative extemalty you gave in
part ().

Carbon pricing, tax on producers to iternalisethe cost (1 mark)

(v) Outine how this measure would redress this negative externaliy.

Carbon pricing now adds to the cost of the producer and aows the market to reflect to

Some degree the costof carbon emision and the higher prices of goods produced by emi

ting industres wi

lead toles ofthem being produced and ess carbon emission and! (1 mark)
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Refer to the following article.

Riding bicycles to work

‘The governing bodies of many large citis are facing new
choices about how best 10 use thei resources. A large number
of city workers are choosing (o ridebicyeles (o work instead
of driving carsor using public ranspr.

Many bicycle riders are putting pressure on governing
bodics o spend more on infrastructure for cyeliss. Specific
bicycle anes or the development of entire roads dedicated
10 bicycles are being considered. Some employers are
providing incenives to employees to buy bicycles because
of the positive extcmalities created when people cycle to
work.

(a) Identify one type of resource discussed in the article.

(1 mark)

(b) Identify one example of a market response o the economic question of ‘What to
produce?” when a large number of ity workers choose 10 ride bicycles to work.

(1 mark)

() () State the likely price clastcity of supply of transport infrastructure in the short term.

(1 mark)

(i) Explain your answer to part (c)()

(2 marks)
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(@) () Define the term “positive externalites'.

(1 mark)

(i) List one example of a positive exterality created when people cycle o work.

(1 mark)

(&) Which one of the following responses best describes the changes in the markets
that are affccted by an increase in the number of people cycling to work? Tick the
appropriate bo.

Avise inthe price of substitute goods and an increase in M
demand for complementary goods. (]

Adecrease in demand for substitute goods and a rise in the
price of complementary goods

‘A decrease in supply of substitute goods and an increase in
demand for complementary goods

Adecrease in supply of substitute goods and an increase
in supply of complementary goods L (1 mark)

(£) Explain why markets generally fail to provide cycling infrastructure

(2 marks)
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Refer 10 the following aricle

Riding bicycles to work
The governing bodies of many lrge ctes are ficing new
choices abouthow bet 1 ue e resources, Aarge umber

of city workers ar choosing o ride bicycls o work intead
of driving carsor using publc ranspor

Many bicycle riders are puting pressure on governing
bodies 10 spend mare on infrasructure for cyclists. Speciic
biyele lanes or the development of enir roads dedicated
1o bicycles are being, considered. Some employers are
providing inentives o cmployees to huy bicycles because
OF the postive evtemalities created when peaple cyele 1o
work

(@) Wenify one type of resource discussed in the ariicle
Human resources (labour)

Capital resources. (1 mark)

(b) dentify one example of a market response o the economic question of “What 1o
produce?” when a large number of city workers choose 10 ride bicycles fo work,

More bicycles produced in response to more demand for bicycles.

(1 mark)

of supply of ransport infrastructure in the short term.
Probably Low price elasticity

= (1 mark)

(i) Explain your

nswer (0 part (€.
“Short term” therefore less time to react to price change, pa

ularly if government
decision making is involved, slowing the process,
An argument for High supply elasticity may relate to the availabilty of resources for

making bike tracks. (2 marks)
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(@) (i) Define the term “positive externalites”
Benefits gained by those people not involved in the decision to produce or consume

(1 mark)

(i) List one example of a posiive extemality created when peaple cycle o work

Less traffic congestion, less air pollution

0 mark)

(e) Which one of the following responses best describes the changes in the markets
that are affected by an increase in the number of people cycling to work? Tick the
appropriste box.

Ariscin the price of substitue goods and an increase in —
demand for complementary goods

Adecrease in demand for substitute goods and arise in the
price of complementary goods

Adecrease in supply of substtute goods and an increase in
demand for complementary goods )
A decrease in supply of substtute goods and an increase r

i supply of complementary goods L (1 mark)

(f) Explin why markets generally il o provide cycling infiastructure
Due to external benefits, markets don't reflect the total social benefits from cyciing.

Thus proft potential is inadequate to generate private sector investment.
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Refer to the following article.

Price of chocolate eggs up by 17%

“The Christian festval of Eater sofin ceebrated by exchanging chocolate g, However, his yea the
price ofchocolate epes has increased becanse ofa increase i the prce o chocolate’s main inredient
~— cocon — which is at 20-year high.

However, it s expectd tha othr esanonyc forces willsoon push down cocod prices.

Despit the prie ries, consumers are not expectd o reduc their spending on chocolate cgs for
Easter s it is an important event for many people

Consumer groups have sugaested that the government set a maximum price for cocoa 1o help

(3) On the diagram below, illustrate the impact of the change in the price of cocoa on the
‘market for chocolate cggs.

Show the effect on the price and quantity traded, and briefly explain your answer.
Mkt for choclae cegs
s

(@ marks)

(6) (i) State the likely price clasticity of demand for chocolate cges at aster.
(e

(i) State one determi
answer 1o part (b))

it of the price clasicity of demand that could explain your

S — )

(i) State the likely effect of the increase in the price of chocolate eges on total revenue
during the Easter period.

(1 mark)
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(©) (i) Explain one supply factor that would bring about a decrease in the price of cocoa.
lustrate, on the following diagram, the effect of this factor on the market for cocoa.

Market for cocon

(@ marks)

(i) Explain one demand factor that would bring about a decrease in the price of cocoa.
lustrate, on the following diagram, the effect of this factor on the market for cocos.

Market for cocoa

(@ marks)
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(@ Refer 1o the folowing diagram.

Market for cacon

3
s
P
®
n
o Q

Explain the effect on the price and quantty traded if the government sets a maximum
price for cocoa of:

o,

- @ marks)
(TR

(2 marks)
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Refer 0 the fllowing artcle.

- B - —
Price of chocolate eggs up by 17%

The Christan fesival of Easte i oflen celbratd by exchanging chcolte s However, hisearthe . |
price ofchocolt egasha increased becauseofan icrease i th pic of chocolae’s main ingredicn.
cocoa — which 1 t# 0-ycr high

| However,t i xpected ht otereconomicforces wil soon push down cocos prics.

Fasteras it s a imporaat cvent for many peope

Consumer groups have suggested that the government set 3 maximum price for cocon 1o help

| s e i s commers e o exectd 0 e e e onchocsne g o ‘
| o |

(a) On the disgram below, illustrate the impact of the change in the price of cocoa on the
marke for chacolate cges

Show the cffct on the price and quantty taded. and briefly explain your answer. v

Market for chacalate cges
N s

Higher input costs makes it less profitable to produce chocolate eggs and thus
supply decreases price rises and the quaniity demanded fals.

@ marks)

(b)) State the lkel price laicity of demand for chocol
Low price elastiiy. P

eges ot Easter,

(i) St one determinant of the price clasticity of demand that could explain your

amswer o part (b)), .
Consumers are not very responsive 1o price rises as they see them as a social

necessity in this season - the easter bunny has to arrive 1 mark)

i) Sate the fikely effct o the increase in the price of chocolat cggs on fotal revenue
during the Easer period.
Increase as the price rise is not matched by a similar drop in quanti
demanded. ()
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(©) () Explain one supply factor that wauld bring sbout a decrease in the price of cocos,
lustrate, on the following disgram, the effect o this factor on the market for cocoa
Good growing conditions, easing of civil war

Market for cocos

() Explain one demand factor that would bring about a decrease in the price of coco.

»
o

@ marks)

ustrate, on the following diagram, the effect of this facor on the market for cocon.
Lower demand for chocolate for health reasons,

Fallin price for substiute for Cocoa

(@ marks)




image37.png
(@) Refer 10 the following diagram

Market for ocoa

Explain the effect on the price and quantity traded if the govermment sets a maximum
prie for cocon of:

N3
Price would fall to P, and quantity traded would fall as shown
Quantity demanded exceeds quantity supplied - shortage may lead to
less desirable outcomes - e.g. blackmarket

- @ marks)

G,
No change as the market price is less than the mandated maximum.

@ marks)
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Refer 10 the following artcle.

Fast Food Realitis

A fast food company facing increasin costs of production decided o use
it market power i an atempt (0 increase profs.

“The company divided s total marke nto & pumber of ndividual markets
afer research found that consumers in poor suburbs ar less sensiive (0
price increases than consumers in affent suburs.

“The company has decided to incrase the price of hamburgers in poor
suburbs but ot in affunt suburbs where a price increase could acualy
reduce ot revenue

(@) Explain the difference between ‘demand’ and *price elasicty of demand’

@ marks)
©) Refr 0 the following graphs.

T . Suburb B

3 3

2 2

o o
o ERRER o CRTIN
Demand for hamburgers Demand for hamburges

() Caleulate the change in total revenue due (0 an increase in the price of hamburgers
from 82 t0 83 i

(1) Subub A

(1 mark)

(2) Suburb B.
(1 mark)
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(ii) Using your calculations from part (b)(i), compare the price elasticity of demand for
hamburgers in Suburb A with that in Suburb B.

(2 marks)

(iii) State which of the graphs — Suburb A or Suburb B — is likely to represent the
demand curve for hamburgers in an affiuent suburb.

(1 mark)

(iv) Outline one determinant of the price elasticity of demand that could explain your
answer to part (b)(iii).

(2 marks)

(¢) Explain how the market outcomes described in the article on page 2 may be seen as
inconsistent with social, moral, or ethical values.

(2 marks)
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Refer 10 the following article.

Fast Food Resltes

A 0 00d company facing increasing costs of producton decded t use
s marketpower i an stempt 0 inrese profis

“The company divided s toal masket nto 3 nomber ofindividual markets
e esearch found that consumers in por suburbs are les seniive 1o
price incresss than consumers i aent uburts.

The company has decided to ncrease the prie of hamburgers i poce
suburbs but nt in afuent suburbs where  prce ncrese could actally
reduc tot) revere, |

() Explin the diffrence between ‘demand’ and “pric clasiiy of deman
Do) o e gomntier  mpreduck et b
Prie sy devad. o e esponstvean of

AQuestrydocasted doochae Loprica @ marks)

®) Refer 10 the following graphs

L s . sounn
s s
2
> >
Ty o e o o
PR, Deman o s
) Calelte the change i ttl v due 102 s i e prie of s
fom 520 53
() subrs .
dlo=dq k)

(2) Suburb B.

80 b e x 44

- A mark)
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(i) Using your celculations from part (b)) compare the price elasticity of demand for
hamburgers in Subub A with that in Suburb B.

(2 marks)

(i) State which of the graphs ~ Suburb A or Suburb B it likely to represent the
demand curve for hamburgers in an afuen suburb.

S ik L aiSe Sl A

(1 mark)

(i) Ouline one determinant of the price elasticty of demand that could explain your

ot ly (N
ot foed be sea an o mecasiiy by
- meve suhsbihates b alfloat subosde donellose

eg.mere upmarkor resdnimta (o

Explain how the market outcomes described in the artcle on page 2 may be seen as
inconsistent with socia, moral, or ethical values,
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. Refer 10 the following pie chart, which shows each producer s share of the domestic market
Jfor Product X.

Domestic market share of
producers of Product X

Other

(8) () Name the market structure that best describes the market for Product X.

(1 mark)
(i) List o features of the market structure that you named in part (a)).
Feature 1:
Feature 2:
(@ marks)

(8) Producer 3 is a transnational company. The ofher producers are domestically owned.
‘Explain one advantage that Producer 3 may have over other producers in this marke.

@ marks)
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(©) Producer 1 and Producer 2 have applied for government approval to merge to become
one producer.
Explain one cconomic argument why the government might:

) approve the merger.

(i) not approve the merger.
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Refer o the following pie chart, which shows each producer's share of the domestic market
Jor Produc X.

Domestic market share of
producers of roduet X
Oter
Producer Producer |
Producer2
Producer

(2) (i) Name the market structure that best describes the market for Product X.
Obdmpdy
o e o e o s 0

Featre 1 {w@,ﬁ%ﬂ,ﬂu&q&&« e frieing,

Feaure 2 v\o«-mm m&:kpﬁw
"‘ﬁ:} L‘.!\Msf?l 2 marks)
u:.ﬁm wﬁmm,@ 2

(6) Produces 3 is & twansnational compiny. The other producers are domesticaly owned.
‘Explin one advantage that Producer 3 may have over other producers i this market,
- Canir accans do

- Udernadionall e ptatiin R

- econemios dhscale - prodincio or tndd) pnckok.

- eapiar to prodiica i Conndcinn wrdl e producks
oo ond b W% @ marks)

(1 mark)

[©)
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Producer | and Producer 2 have applied for goverment approvl (o merge fo become
one produces.

Explin ane ccanomic srgument why the goverament might
@ spprove the merger

ecomonies disile oy b prine

ooy preved wle collogse d o porcbicar

ey Hoad do i provd -~

(2 marks)

(i) ot approve the merger

creduce tompediine - %’*‘J\Sﬁ'«;@t&rm
oss incasion o i et fhiien

@ marks)
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1. Refer to the following information.

“The cconomy of a small town is bascd on the lamb-faming industy, which has experenced signiicant
changes over the past 30 years.

In the 19705 the lamb famers operated in a perfetly competitve market and were “prce akers, seling.
their lamb locally. n th 19805 the famers began 10 export ther Jamb i response 1o ncreased demand.
from overseas This resulted i an ncrease in the income of fumers, which had flow-on ffcts for the
income of the townspecpl.

In the 19905 thes increass in income, along with increased pariipaton of women i the workforce,
led 10 a growing demand for different ypes of lamb products hat necded il or o prepaation before
cooking, such s sausages, kebabs, tir-fies, and casseroles. Individual lamb fumers began o produce.
these ready-to-cook’ products, adding value and varity 10 thei previously unprocessed lamb. They
created unique products using idividual recpes and established thei own brands, which they advertisd
o consumers,

Individual lamb farmers beleved that they necded o respond {0 the change in consumer demand in order
o gain some control over the price at which they sold thei product

(@) Explain why individual farmers in the perfecly competitive market for lamb were said to
be “price takers”

@ marks)

(6) Explain the effect of increased partcipation of women in the workforce on the following;

() What to prodce’”

(1 mark)

(i) For whom are goods and services produced?

(1 mark)
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() Dirgram 1 Market for lamb Disgram 2: Demand curvefor lamb,

® P
y

o o

Qo 0 Q
Dirgram 3: Market for lamb Disgram 4: Demand curveforlamb.
Taced by an individusl farmer
® ®
o o

Q Q

() Refer 1o Diagram 1, which shows the perfectly compeitive market for lamb,

On Diagram 2 draw the demand curve faced by an individual farmer in
the perfectly competitive market for lamb. (1 mark)

(ii) On Diagram 3 show the efect of an increase in export demand on the
perfectly competitive market for lamb. (1 mark)

(il On Diagram 4 show how the change in the market for lamb that you
illutrated in Diagram 3 affects the demand curve faced by an individual
farmer (1 mark)

(@) Comment on the difference between the price elastciy of demand for unprocessed lamb.
and the price elasticty of demand for branded, ready-to-cook lamb product.

@ marks)
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(€) Name the market structure in which lamb farmers who produced branded, ready-to-cook
lamb products were operating,

(1 mark)

() Compare the effectiveness of a perfectly competitive market siructure with the
effctiveness of the market structure you named in part (c) in meeting the needs of:

(@ consumers.

(2 marks)

(i) producers.

@ marks)
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1. Refer o the following informaion
(" cconomy of » smal town 15 ased on the i Grming ind
changes over the past 30 years.

I the 19705 th Iamb famers opersed i a paracty comg g,
theic Jam localy. In the 19605 the faces began 10 export e lamb i respanse 10 increased demand

fiom oveseas. This resuled in an increas in th income of frmers, which had flow-on elfects for e
income of the townspeple.

' which has experienced sigifcant

€ and were “pice ke’

1 the 19905 hese ncresses i incom
Iedto

poriipaion of women in the workforc,
arowing demand fus diffren types of I products that needed bl o no prepsation belont
cooking, such 35 sousage, kebabs, si-ie, and casserole. Individus) o famers began 1o prodvee
these *feady-o-cook” prodocts, adding value and variery 10 i previously unprocessed lanb. They

crated unique products using inlividual recpes and estabiished their e brands, which they dvenises
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(5) Explain the effect of increased partcipation of women in the workforcs on the following;

(1 mark)

@) Whai 10 produce?
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(©) Diagram 1: Market for st

corve for
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O Disgram 2 deaw the demand curv faced by an individual (semer in
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) On Dingrom 4 show how te change in the market for am that you
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(4) Comment on the difference between the price elasiity of demand for unprocessed lamb
and the prce elastciy of demand for branded, ready.(0-cook Jarb producis

Un procssesd o -

Y]





image1.png
Refer (o the following information.

Potato prices soar
Many smalacale potalo farmers have experenced poor growing conditons in
(Oclober s year, which has led 1o th prie of potatoes Increasig from 5500 &
Hiogram o $9.00 2 ogram.

The incroase in the price o potatos i sfectng the market for ho chips,the most
poplarform o o0d produced from potatoes

“The ncreased price s also expected 0 affect markes or complementry goods such
¢ omato sauce, and subettde goods such 5 e,

T prce of potatoes i notexpected tofall fomthe curron prios of $9.00. kiogram
untl next season'scropenters he market i February extyear. Aconsumer advocate
argued hatf i govermn sat a maximum pie for plaloes of 7 001 Klogram, all
Consumers wouid b beter of. This ciam has been rjece by govemmen aficials.

(a) Show on each diagram how the poor growing conditions for potatoes are fikely 10 afect the.
‘market for the following goods.

Indicate the ffect on price and quaniy raded.

Market for potatoss Market for hot chips.

b
s " s

°

Market for tomato sauce Market for rce.

v><s s
o o
@

(4 marks)
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(6) () Name the likely market sructure for the potalo-growing industy.

. (1 mark)

(@) Justty your response to part (o))

- (1 mark)

() Explain the likely change i the price elastcty of supply of potatoes before and afler February
next year when the new crop becomes available.

(@marks)
(@) () State thelikely price elasicty of demand for polatoes.
(1 mark)
(i) Justty your response to part (4K
(1 mark)

i) With reference to your response (o part (4)), explan the likely effect o total revenue of
the increase in the price of potatoss from $5.00.a klogram 10 $9.00 a klogram.

e maks)

(6) Explain how using potatoes to make hot chips sold n food outlets wil affect gross domestic:
product (GOP).

Refor to 0ne method of measuring GDP in your answer.

S - (@marks)
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‘Evaluate the claim by the consumer advocate tha if the government set a maximur price for
polatoes of $7.00 a klogram, al consumers would be bettr of.

Include a diagram 1o supportyour response.
o

&

(3 marks)





